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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you understand by Rural Sociology ? Discuss 

the scope of Rural Sociology in Indian context. 

xzkeh.k lekt’kkL= ls vki D;k le>rs gSa \ Hkkjrh; ifjos’k 

esa blds fo”k;{ks= dh foospuk dhft,A 

2. What is Family ? Discuss recent changes in family in 

rural India. 

ifjokj D;k gS \ xzkeh.k Hkkjr esa ifjokj esa gks jgs vfHkuo 

ifjorZuksa dh foospuk dhft,A 

3. What do you understand by Peasant Movement ? 

Discuss any one peasant movement in India. 

d`”kd vkUnksyu ls vki D;k le>rs gSa \ Hkkjr esa fdlh ,d 

d`”kd vkUnksyu dh foospuk dhft,A 

4. What is Green Revolution ? Write a short note on 

Green Revolution in Rural India. 

gfjr Økafr D;k gS \ xzkeh.k Hkkjr esa gfjr Økafr ij ,d 

laf{kIr fVIi.kh fyf[k,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you mean by Little Community ? 

y?kq leqnk; ls vki D;k le>rs gSa \ 

2. Concept of Sanskritization. 

laLd`frdj.k dh vo/kkj.kkA 

3. Write a short note on Globalization. 

oS’ohdj.k ij ,d laf{kIr fVIi.kh fyf[k,A 

4. Discuss in brief any one problem of rural India. 

xzkeh.k Hkkjr dh fdlh ,d leL;k dh laf{kIr foospuk 

dhft,A 

5. What do you understand by rural development ? 

xzkeh.k fodkl ls D;k rkRi;Z gS \ 

6. Discuss the merits and demerits of Jajmani System. 

ttekuh O;oLFkk ds xq.k ,oa nks”kksa dh foospuk dhft,A 

7. Deliberate the objectives of Community Development 

Programmes. 

lkeqnkf;d fodkl dk;ZØe ds mís’;ksa dh foospuk dhft,A 

8. What is Panchayati Raj System in India ? 

Hkkjr esa iapk;rh jkt O;oLFkk D;k gS \ 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Family is the primary institution of society.  

     (True/False) 

ifjokj lekt dh izkFkfed laLFkk gSA  ¼lR;@vlR;½ 

2. Overpopulation is a major problem of rural society.  

     (True/False) 

xzkeh.k lekt dh izeq[k leL;k vf/kd tula[;k gSA  

    ¼lR;@vlR;½ 

3. Joint families are disintegrating in rural India.  

     (True/False) 

xzkeh.k Hkkjr esa la;qDr ifjokj fo[kf.Mr gks jgs gSaA  

    ¼lR;@vlR;½ 

4. Exchange of services is called Kinship System.  

     (True/False) 

lsok ds cnys lsok O;oLFkk dks ukrsnkjh O;oLFkk dgrs gSaA  

    ¼lR;@vlR;½ 
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5. Community Development Programme was started on 

2nd October, 1952. (True/False) 

lkeqnkf;d fodkl dk;ZØe 2 vDVwcj] 1952 dks izkjEHk 

gqvkA    ¼lR;@vlR;½ 

Choose the correct alternative : 

lgh fodYi pqfu, % 

6. Who is the author of the book ―Ancient Law‖ ? 

(a) M. N. Srinivas 

(b) T. L. Smith 

(c) Henry Maine 

(d) Lowry Nelson 

ß,Ulh;UV ykWÞ uked iqLrd ds ys[kd dkSu gSa \ 

¼v½ ,e- ,u- Jhfuokl 

¼c½ Vh- ,y- fLeFk 

¼l½ gsujh eSu 

¼n½ ykWjh usYlu 

7. What is the main problem of Indian Rural Society ? 

(a) Casteism 

(b) Conservatism 

(c) Indebtedness 

(d) All of the above 

Hkkjrh; xzkeh.k leqnk; dh izeq[k leL;k D;k gS \ 

¼v½ tkfrokn 

¼c½ vU/kfo’okl 

¼l½ _.kxzLrrk 

¼n½ mi;qZDr lHkh 



 [ 6 ] MASO–04 

B-35 

8. Caste of one is determined : 

(a) By Occupation 

(b) By Social status 

(c) By Birth 

(d) By Income 

,d O;fDr dh tkfr dk fu/kkZj.k gksrk gS % 

¼v½ O;olk; ls 

¼c½ lkekftd izfLFkfr ls 

¼l½ tUe ls 

¼n½ vk; ls 

9. In which year the Panchayati Raj System was started in 

India ? 

(a) 1954 

(b) 1958 

(c) 1956 

(d) 1962 

Hkkjr esa iapk;rh jkt O;oLFkk fdl o”kZ izkjEHk gqbZ \ 

¼v½ 1954 

¼c½ 1958 

¼l½ 1956 

¼n½ 1962 
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10. Who started the Bhoodan Movement ? 

(a) Jai Prakash Narayan 

(b) Indira Gandhi 

(c) Acharya Vinoba Bhave 

(d) Mahatma Gandhi 

Hkw&nku vkUnksyu dks fdlus izkjEHk fd;k \ 

¼v½ t;izdk’k ukjk;.k 

¼c½ bfUnjk xka/kh 

¼l½ vkpk;Z fouksck Hkkos 

¼n½ egkRek xka/kh 
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